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





 ρ



 𝑛(H2) =
𝑚(H2)

𝑀(H2)
= 496 mol 

 𝑉atm(H2) = 𝑛(H2)  ×  𝑉m =11117 L 

 𝑉atm(H2) = 𝑚(H2)/𝜌(𝐻2)=11126 L 

 (H2) =
𝑝

atm

𝑝
20bar

×  𝑉atm = 563,67 L

 (H2) =
𝑝

20𝑏𝑎𝑟

𝑝
×  𝑉20bar = 45,09 L

 (H2) =
𝑝

20𝑏𝑎𝑟

𝑝
×  𝑉20bar = 32,21 L

 (H2) =
𝑝

20𝑏𝑎𝑟

𝑝
×  𝑉20bar = 16,10 L
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







𝑊 = 𝑇 𝑠1 − 𝑠2 − ℎ1 − ℎ2
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











𝑊 = 𝑇 𝑠1 − 𝑠2 − ℎ1 − ℎ2

+ 𝑟 (𝑇N2
𝑠1N2

− 𝑠2N2

− ℎ1N2
− ℎ2N2
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 𝑊 = 𝑇 𝑠1 − 𝑠2 − ℎ1 − ℎ2 + 𝑟 (𝑇N2
𝑠1N2

− 𝑠2N2
−

ℎ1N2
− ℎ2N2





 𝑠1N2
ℎ1N2

 𝑠2N2
ℎ2N2

 𝑇H2
𝑇N2







→

→





Δ Δ



WLaNi5 = 4,147 kWh 

WMg   = 10,22 kWh  





→
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


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









𝞰 =
𝑄𝑡 − 𝑄ℎ

𝑄𝑡
=

𝑚𝑐𝑣(𝑇3 − 𝑇2) − 𝑚𝑐𝑣(𝑇4 − 𝑇1)

𝑚𝑐𝑣(𝑇3 − 𝑇2)
= 1 −

𝑇1

𝑇2
= 1 −

1

𝑉2
𝑉1

𝐶𝑝
𝐶𝑣−1





a)
𝑉2

𝑉1
= 10: 1

b)
𝑉2

𝑉1
= 17: 1





 Cp (H2)=14,32 kJ/kg K  Cv (H2)= 10,16 kJ/kg K 

 Cp (benzin)/Cv(benzin)=1,1 

 𝞰(H2) = 1 −
1

𝑉2
𝑉1

𝐶𝑝
𝐶𝑣

−1
=0,61 

 𝞰 H2 = 1 −
1

𝑉2
𝑉1

𝐶𝑝
𝐶𝑣−1

= 0,69

 𝞰(benzin) = 1 −
1

𝑉2
𝑉1

𝐶𝑝
𝐶𝑣−1

= 0,21 

 𝞰(benzin) = 1 −
1

𝑉2
𝑉1

𝐶𝑝
𝐶𝑣−1

= 0,25





 →

 →

 →

 ∆𝐻 =  𝐻H2O −  𝐻H2
+

1

2
𝐻O2

= −285,83 kJ/mol

 ∆𝑆 = 𝑆H2O −  𝑆H2
+

1

2
𝑆O2

= −163,6 J/K mol 

 ∆𝐺 = ∆𝐻 − 𝑇∆𝑆 = −237,06 kJ/mol

 𝞰𝑖𝑑𝑒𝑎𝑙 =
∆𝐺

∆𝐻
= 0,83 

 𝐸0 =
∆𝐺

−𝑧 × 𝐹
= 1,229V Idealni standardni potencijal 



 𝞰realan =
𝐸članka × 𝐼 × 𝞰ideal

𝐸0 × 𝐼
=

𝐸članka × 0,83

1,229
= 0,675 ×  𝐸članka




